PRODUCT INFORMATION / &S5k

- B FEIEERME

- BUWEEEE: M(3T47L) — L(5—2)

- BNEEE XA, [FmE

- h5—: 2= RD(b

- P YA NMURTF TV T332 % CSHRKIZEN BBEERNS
OZHEEMBBRIFVLET

Features / %5

- 2CU 545 %A

- Waveh—7>3 X7 LIS

- h—Jh0I=]&E

- FILWZA A - RIANLDTHA -T2 ~ov)

06/2025/v2

%SilentGliss



SYSTEM SPECIFICATIONS / A7 LMft#k

A. PROFILE / L=l

L—ILED—THIO
&R

AEIOEDEHFEETE
ROEFCTHIEUE
9. Q0E%RBXDH—T
MMTICDOWTIE50emh
BERDET, EM(EH
HABRBIVEDEZE
(A

B. HOW TO
MEASURE /
AEFE

FITTING / 2B &E

A. FITTING
INFORMATION /
Rt T

T30y NRDAIE

SG 6870

SG 11190
L=Iv
F1E:
v >26cm

- 7

+
4

FERERERIRICOVTE. HHABBVWEDECE
(AN

’£0> . max. 500 . max. 500 . 100
L [
HATIHEAOZEE. I3y MakEdmax.

500mmLL
ARIDAIE THUTF TIZE0

%SilentGliss



B. CEILING
FITTING /
XHEE

93>7 - SG 3825

T35yb - SG 3832

C. WALL FITTING /
IFEEERE

AN—=NI19IR
(HENER)

o0

min. 60 min. 120

CERRRICEDEERSEREE)

SG 3825
957

B

M Sns
| L3
_ min.60 | min. 120 |
/‘20
SG 3832
T35yh

7

| 7

AX—RJ4wI2tyh SG 11200 - SG 11204 & 7

3ovh SG 3832:

WEEBm INILIRT SG 10492 (M4x8)

7

x

Z

Smart Fix / AX—K7499 X mm X mm

A (SG 3825) (SG 3832)
SG 11200/ SG 11210 52 70

SG 11201 /SG 11211 72 90

SG 11202/ SG 11212 92 110

SG 11203 /SG 11213 112 130

SG 11204 /SG 11214 142 160

SG 11156 182 - 210 200 - 228

AI)IFAI—RI19IA Ay SG 11210 -

SG 11214 & I35vh SG 3832:

RELE RILNES SG 10492 (M4x8)

%SilentGliss

SG 6870



SG 6870

Y

A
1

AZ)=BILAR—RI1vIAY b SG 11156 & J5

vk SG 3832:

WEEBE NILMRT SG 10407 (M4x10)

X

AX—bI19IAtyb SG 11200 - SG 11204 & 7

5>7 SG 3825:

WHEERG NILMRS SG 10074 (M4x8)

N\

j

7

ADITAI—FI19IZAyh SG 11210 -
SG 11214 & 9527 SG 3825:
WEEBT INILIRT SG 10074 (M4x8)

7 SG 3825:

x

I1=)N—HIVAI—RI4vIAYs SG 11156 & 5>

WELS RILNES SG 11158 (M4x12)

A 20 » <
4
SG 3825 SG 3832 SG 10074 SG 10407
327 AN +9IMILRRT M4x8 +FRIRILRRT M4x10
N > o
\\\\\\ \\\\\\\ 60 & 80 $
o4 S N
16{ 62 A > 62
X’ o N’
SG 10492 SG 11158 SG 11200 SG 11201

+FNRIVBRS M4x8

BIRIVMRS M4x12

%SilentGliss

AX—=NJ4wIZyh 60 mm

AN—=RNJ1wIZALyh 80 mm



100 > > > 2
( A 150 Y zoo/\ D s\'
A S 62 </ 62 62 7 29
g X < N ~ D
a <
g %<
SG 11202 SG 11204 SG 11205 SG 11210

AX—hI19IAzyh 100

AN=RI19IZ2yh 150
mm

AX—=hI19IAzyh 200
mm

ADIT AN =TI Aty b
60 mm

807 2 100" B i P
< 29 £ 23 N BTN
A16/29 V29 <29 29
A
16
< o %
SG 11211 SG 11212 SG 11213 SG 11214

ADIT AR —RI1wIX 2y b
80 mm

200/\
<

A
b

Lgs/

SG 11156
IZN=HIAI—RIT(vIR
vk 200 mm

o

SG 11295 SG 11302

ADIFP AR —RI4wI Rty b
100 mm

%SilentGliss

ADIT AR —RIT1wIR 2y b
120 mm

SYSTEM OPTIONS / AT AT 3>

A. WAVE /
WAVE h—7>

VAT EE WESIPIW]N
150 mm

Standard components / =BT

- SG 11295 IV RANT

- SG 11302 Wave 2C J35445— 80

SG 6870



2 Optional components / AT AERERTR:
"
& W W - SG 2256 L%

s - SG 6364 WaveI/ZT>33>
- SG 6365 Wave/\>H—

N - SG 6366 Wavel\~h>+vU7
ﬁ / % - SG 10432, 10434 )\k>

- SG 11303 Wave 2C J3449— 60

(

SG 2256 SG 6364 SG 6365

SG 6366 SG10432,34 SG11303

[ Curtain components / H—TABRNERG
B - SG 3582 77

@ 9999 - SG 6349 Wave 77

SG 3582 SG 6349

Wave stack / fefzdHY - Wave 2C J544— (IZHEAERHERG)

7 Z A = Stack depth / BITDffedH%
%/ // B = Stack size / TRDfZfz M
T ] C = Min. distance / B2/\EIBR
| B
. e
Z

-t L d A L
C 2xC
Wave 2C #5414 TVIORT N—T>DEH BITOREHMK TBORHMY /) \E bR
— 80/ &% v NEIFR A B* C
80/175 6 21 140 ”‘;?;Ob?n‘” 90
80/2.0 7 ~23 160 ”‘;?;OI‘/?T]‘” 100
Wave 2C /544 TVIORT N—T>DEH BITOREHMY TBORHY /) \bR
— 60 / &= AN A B* C
60/17 4 ~2.1 100 73;’2('; /an‘;” 70
60/2.0 5 23 120 h7xbavs 80

*AT23VDIIAT>33VSG 6364%FEAU
BEDOAIYITFAXB(E. H—F>TEC150 mmighiL
353-0

SG 6870 %Silentcliss



PARTS / &bam

A. STANDARD PARTS / &E#&bm B. OPTIONAL PARTS / A>3 8k
SG 3832 SG 2256 SG 10407
AN JL—=+ +FARIVRRS M4x10
SG 6065 SG 3582 SG 10432
USRI RANT v JXR> 100 cm
SG 11190 __ SG3825 SG 10434
L= / 957 )UK 150 cm
SG 11233 SG 5115 SG 10492
TIYRN- SN/ IR0 TS +FARIVNES Max8
SG 11300 SG 6085 SG 11156
2C J545— IFINSSF—Eyh I=—BINAI— N IvIAEYN

200 mm

SG 6086 SG 11158

2TV 2T IR RS M4x12

SG 6098 é‘\» SG 11200

BRIV — S 23— RI4wHI 2y 60 mn
~J

SG 6283 SG 11201

Z1-3>F— < A —RI4yHI 22y k 80 mn

SG 6349 SG 11202

Wave 7—7 AX—KIT4wHI 2wk 100 mm

SG 6364 SG 11203

Wave T9R5>23>

AX—=bJ4wIAZYh 120 mm

AYANAY

SG 6365 SG 11204
Wave \> 5 — AX—bJ4wIZYh 150 mm
SG 6366 SG 11210

V%

ADIT AR —bIJ4wIRZvh 60
mm

Wave I\k>Fv1)7

N
</

SG 10074
+YIRILPRS M4x8

SG 11211

AIIFA—hI199ZXyh 80
mm

7.
Ny
L

SG 11212

ADIT AR —NIJ4wIXyh 100
mm

SG 10157
D1y *BHREFEME

ML
7 ~“& SilentGliss SG 6870



SG 11213

ADIT AR —RNIT4wIxyh 120
mm

SG 11214

ADIT AR —hNI1wI Ay 150
mm

SG 11230

JEAL =)L *BoEEEm

SG 11238

VEANRY *BIREER

SG 11295

IRANS

SG 11302

Wave 2C 7544 — 80 mm

NN S

SG 11303

Wave 2C J544— 60 mm

SG 6870

%SilentGliss



	SG 6870
	 Product Information / 製品情報 
	 System Specifications / システム仕様 
	 Profile / レール 
	レールとカーブ加工の情報
	SG 11190


	 How To Measure / 測定方法 

	 Fitting / 設置範囲 
	 Fitting Information / 設置範囲情報 
	ブラケット類の位置

	 Ceiling fitting / 天井設置 
	クランプ - SG 3825
	SG 3825

	ブラケット - SG 3832
	SG 3832


	 Wall fitting / 正面壁設置 
	スマートフィックス (補助金具)
	SG 3825
	SG 3832
	SG 10074
	SG 10407
	SG 10492
	SG 11158
	SG 11200
	SG 11201
	SG 11202
	SG 11204
	SG 11205
	SG 11210
	SG 11211
	SG 11212
	SG 11213
	SG 11214
	SG 11156



	 System Options / システムオプション 
	 Wave / WAVE カーテン 

	 Parts / 部品 
	 Standard Parts / 標準部品 
	 Optional Parts / オプション部品 



